11. Identify the type of the construction (ref. ex. 9 & 10) in the sentences below:

1. High-risk mothers are more likely to be poor. [p. 13]*

2. ... he is likely to get lung cancer in twenty years’ time. [p. 50]

3. Japanese people ... are more likely to die of CHD than Japanese ... [p. 51]

4. People are more likely to accept the advice of their own general practitioner than ... [p. 65]

5. In all countries, a baby is much more likely to die if it is born very soon after the
previous baby. [p. 71]

6. His mother wanted Juan to be healthy... [p. 73]
7. He is much less likely to reject the graft. [p. 86]
8. For example, depression is more likely to occur in people who are ... [p. 93]
9. Anxiety is more likely to occur in people who have stressful jobs... [p. 93]
10. Schizophrenia is also more likely to occur if the person comes from ... [p. 94]
11. People with AIDS are likely to get all kinds of cancers. [p. 99]
12. A person suffering from malnutrition is more likely to get AIDS. [p. 99]
13. Patients with AIDS are more likely to develop some types of cancer... [p. 100]
14. They want their diagnosis to remain confidential. [p. 102]
15. They want the government to make discrimination against AIDS victims illegal. [p. 102]

16. These patients are likely to become depressed and demoralized. [p. 110]

* from the textbook Medicine Today. Dr. Trisha Greenhalgh. Longman, 1997



